COLLEGE ALGEBRA Exam 4 (One Step Ch 4) FORMS A and B Dr. Rapalje

COLLEGE ALGEBRA Exam 4A* Name
Show all work on this test or on separate paper! Calculators ARE allowed on this test!

In 1 - 9, solve for the unknown:

1. 10g381 = X 2. !ogs_x = -2 3. log17J7 =X
4, log64 X = 32 5. logb 32 =5 6. log8 16 = X
7. logm 0.001 = X 8. Iogz X = 0 9. Iogb'looo = -3

In 10 - 14, simplify completely:

10. log, b¥* = 11. gln3X - 12. 1n (i2 =
e
13. In el = 14, 1% -
In 15 - 20, use your calculator (round to nearest hundredth or give
scientific notation):

15a) logw 6.4 = 16a) log10 64,000 = 17a) e8 =

b) 1n 6.4 = b) In 64,000 = b) e 8 =
18. In (el + &)) = 19, 1100 _ 20. In 100 - In 25 =

In 25



In 21 - 24, solve for X:

21. 3% = 100 99, F(X +2) _ ;g(3X - 4)

23. logg X - logs (X+4) = -1 24. log, (X+2) + log, {X-1) = 2

2. The population of a rabbit farm is given by Y = 2500 £30.03t‘

where t is in years.

a) Estimate the population b) How long will it take
in 12 years. the population to reach
10,0007

26. The population of a city in 1980 was 50,000. In 1984, the
population was 62,000.

a) Assuming that Y = Ye*t , b) Use this value of k to

find the value of k. predict the population
of the city in 1998.
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BASIC ALGEBRA Exam 5B* Name

Show all work on this test or separate paper. Calculators are required on

this test!
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